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Reading Cnmpreheiun:

Directions: Read the following passages and choose the best choice (1), (2), (3),

or (4). Then mark it on your answer sheet.

Passage |:

Computers wre designed to solve automatically problems that have been properly
formulated. The most important prerequisite in using & computer is that the problems or
work to be processed be clearly organized and well defined. A procedure for problem
solving or data processing must always be stipulated.

Data to be processed and instructions for processing it are presepted to the computer
through its input devices, which convert the language of the instructions into electrical
signals. The computer memory receives these signals from the input section. The control
section activates the portions of the storage memory that contain instructions or data
pertinent 1o the current problem. It then controls the flow of data and instructions between
the memory and the anthmetic-and-logic section by opening and closing the proper
electronic gates. The actions of the control center are guided at every step by the detailed
programs that are stored in the memory banks and that are activated step by step by the
comtrol center, When the computer has processed a problem, the signals representing the
solution are channeled to the output section, where they usually are printed in readable
form or are recorded on magnetic tape. Any other mformation in the computer can also be
printed if the operator or the programmed instructions order it. For example, the computer
may be ordered 1o print a record of the steps it has followed in solving the problem if an
error in the procedure 15 suspected,

To ensure the high accuracy required of computing machines, built-in and programmed
methods of checking are placed in the inpuSand output devices as well as in the processing
unit. The codes used within the machine i.i|:~'~h contain self-checking elements: and duplicate
circuits, recalculations, and other self-checking technigues are standard practices.

The passage is mainly about ---ceeeeee,

1) the operation of gomputers 2) how computers are designed

3) how to use as compuler 4) input aind output devices
According to the passage, what is the most important step in using a computer?
1) Processing problems

2) Presenting instructions for data processing to the computer

3) Changing the language of instructions into electncal signals

4) Defining and organizing problems

The word *it” in line Y refers to «seseseees,

1) data 2) storage memory 3) control section 4) problem
According to the passage, the accuracy of computers is achieved by ---------- :

1) programming input and output sections

2) changing the self-checking technigues within the computes

3) placing self-checking elements within the computers

4) using electrical signals as the language of mstructions
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Which of the following statements is NOT true accordi ng Lo the passage?

1) Information about problems is stored in memory banks,

2) After processing 4 problem, the computer sends information about the solution 1o the output
section.

3) Electronic signals representing the problems ure sent o the memory by the Input section,

4) No information about the procedure for solving problems is available within the computer.

Passage II:

Computers were developed in the late 1940's, and since then they have had more impact
on civilization than any invention since the development of the internal-combustion
engine. Almost every modern activity involves the use of a computer, and it is certain that
the use of computers will become even more widespread. particularly in the fields of
information processing such as education and medicine.

Computers—especially digital computers—have had their most profound influence on
science, business, and indusiry. Scientific and mathematical research have been vastly
accelerated by the use of computers; in business, management practices have been
revolutionized by computer methods: and in mdustry, computers play the vital role of
control in automation. Aside from computations made possible by modern digital
computers. computers have proved matchless as repositories and correlators of the massive
amounts of data generated by a Increasing economy and a more complex society.

The number of digital computers in worldwide use creased from less than 15 in 1950
to over 40,000 in the late 1960°s with over 100.000 predicted for the 1970°s, Together with
an increase in numbers has come an increase in the speed capablitlites of individual
computes. Computers of the late 1960's operated at internal speeds about 20 to 100 times
the speeds of their counterparts of 10 years earlier. In addition, the storage capabilities
increased eightfold, yet oceupied half the former volume.

What does the passage mainly discuss?

l) The development of computers 2) The uses of computers in science
3) Inventions in the 20™ century 31 How computers operate
According to the passage, the storage capabilitics of computers «-eeee..,
1) are eight times greater than before

2) limit the internal speeds of individual computers ,

3) fill the whole amount of space in & computer

4) have not increased during the past 10} years

Which of the following stztements is NOT true about computers?

1) They have greatly influenced human life.

2) Large amounts of data can be stored in modern computers,

3) The widespread use of computers has caused problems for businesses.

4) They have increased in number and in speed capabilities.

The word “profound” in line 6 can best he replaced by ---------,

1) direct 2) strong 3) fast 4) special
What is the writer's attitude toward computers?
1) Unfavorable 2) Positive 3) Subjective 4) Ridiculous
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void main()

d

for(int n=0s=0;n<=5;n+=215+=n)

Cout<<s;

}
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461

(026 (v
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240 (F

Yol plaf a5 0ad oIy Faradad®z sasl; 519 0 9y gaaliy po

void main()
3
int ¢1=0,c2=0,c3=0,c4=0;
char c:
whilef(c=cin.zet())!=EOF)
! switch(tolower(c)) §
{ case'P:+tel;

case 'a':++c2;

case "r':++e3;

case 'd':++ed; )} }
cout<<cl<<gl<<c¢ld<<cd;
i

void main()

:

int ¢=0;
cont<<e=l<<''<<c=l)

void main()

d

enum fower [violet=1,linda,minaj;
fMower f;

violet=4: M

linda=2; f2

=3 //:

cout<<f—mina; //4
cout<<violet: /'S

i

void main()

{

register a;

int b; static int ¢3
for{a=-32000;a<32000:a++);

void muin )
i
|

int x=3,"y:

int&y; /MA

&v=x; 2
yv=&x; /I
*y=3; /4
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int box(int I=Lint w=21.int h=3)
{ return |*w*h; }

vaid main()

b

cout<<box();

cout<<box(10);
cout<<hox(10,10);
cout<<box(10,10,10);

i

ol laf o553 055 @ gy gaalip o
ERROR (\

GHOGO06O00 (v

1101001000 ¢

6603001000 ¢

fad plaS 2455 s Comment wias ERROR sljls o5 pldas b das F1 g, & 95 saebiy 9

int add(int x,int ¥){ return x+v; |
Moat add(int x.float y)§ retarn x+y: |
float add(float x,int y){ return x+y; |
float add{foat x.float v){ return x+y; |
void main()

{

cout<<add(2,3)<<add(2,2.5);
cont<<add(2.5.2)<<add(2.5,2.5);

void main()

4

int a2]13]={11,2}),141 )5
for{int i=0:1<2:1++)
for (int j=0:j<3;j++)
cout<<a|ij]<<'':

!

voud main()

!

int y,"ypir;
yptr=&y; /1
cin>>*yptry /12
cin>>&ptr: (/3
cin>>ypir; /4
cout>>yptr; //5
cout=>"yptr; /6

cout=>&yptr: (/7
i
]
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struct Time | 30
int hh,mm,ss: L
Time day; 1: : v

void main() Ocf
{
Time t1.e2[10],%3,&14:
i
class Time| Yol plaS  2g> g ) gaalip jo
public:
Time(); 0:0:0
void setTime(int,int,int); 9: 10:40 (v
void printTime(); 8:30:20 v
[ ~Time(); N 10:20:20 (¥
private:
int hb,mm,ss;
/Il hilv=mm=ss={); //2
i

Time:: Time() {hh=8;mm=30:s5=20;}
void Time::setTime(int h.int m.int s)
{h=2:m=10:5=40;}
void Time::printTime()
| cout<<hh<<':'s=<mm<<':'<<ss; }

void main()

{

Time t;
t.seiTime(10.20,20);
t.print lime();
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int I Gint p, int g, int n)

|
int m;
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return n;
m=n*f(p/% /2, n/2);
return (im * q)
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void what (node * Aln])
[
for (i = 0 i <n; i++)
{
node *p =A [i]:
while (*p)
{
coul << p —» data;
p=p — link;
S
|

olk) (¥ o(n.k) ¢ oln+ k) (v oln) o

www. Kar shenasi . Com

=YF=

-1F)

-1¥FY



www. Kar shenasi . Com

T amis (BOTC) (138! ot — 51300 030} i ganil s gomo aie ) — (o = Jale: ppimmmnns) 31 381 o ol vg50 dsgens

alil Glaie a ¥ ol b JB Gl] S olpes @ adca K 1 5858 gl aas o slas! X a6 b clal,T what st VY

Iz ol gamii ol N3 Y byl o ol e A8 e clyyo
what (x, v, k)
|
for (i=0; i <= K; i++)
z[i] = 0;
for (i = 1; i <= strlen (x): i++)
Zlx[i] |4+
for (j=1: j <= K; j++)
zljl = z[j] + z[j - 1]
for{i=strlen (x);:i>=1:i--)
{
yizIx[ill] = x[il:
Z[x|¥]] = z[xfi]] - 1;
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while(! isempty (S5¢))
{
m = popiSy)
for(i=lLii<mii®*=2)

push (82 , m);
}
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